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Here, where they erred; here where they did not err

Overview

The & 73 reconciles the two rulings of 7m11 27. In a case where the 7" erred (in a
sixth) in their assessment, their sale is nullified (since they erred); however if 7"2
did not err, but the 2mn° (who had their estate divided by an 01917119R of 7"°2) are
not happy with the site of their portion, they cannot protest. mo01n offers an alternate
solution to the contradiction.
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The X713 could have just as well answered; here (where we say the sale is void) is
where their error in the assessment was one sixth of the true value, and here where
the 0N cannot protest is where the error was less than a sixth of its true value.

moon explains the advantage of this reconciliation:
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For now it will not be necessary to say, they can protest regarding the site
location.

Summary
We can reconcile the two rulings of 1" that by mnwa wv the sale is 7032, but by mind

ninwn the division remains.

Thinking it over
According to n1901n that 1211 27 rules (regarding 2°»n°) that Mnwn» Nno2 they cannot

be 1mn, this indicates that 2Xvw (who argues with 1"7) maintains that even ninoa
mnwn the o°mn° can be 7mMn. The question is that P& MY does not agree even with the
0°non (who argue with 3"2wn) for they say v2 1791 only by a mnw, but not by nmin
mnwn?!?

! According to the answer of the X3 (that Wwv X5, and we are discussing MmMI2 7RAR) it turns out that the dispute
between 2w (MK 1M1 27) and (7°7°7) 1M1 27 is in a case of MMM, and XY will maintain that even if it was a myv
mmA3, but not My in the value, the o°min® can dissolve the 7190, This seems a little far-fetched. However according
to Moo answer that the nP17mn between XMW and 1" is where there was a X2w2 v (less than a sixth), therefore
we can better understand the view of SXmnw.

% See X"w1mn and qwn non.
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